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Implementing a RTI Model

J\MassAmhers
Why Response to Intervention? Why now?

= Approaches to identifying students with learning
problems and learning disabilities:

- Traditional IQ/Achievement Discrepancy

« Response-to-Intervention
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JMassAmberts
Why Use RTI Instead of IQ/Achievement Discrepancy?

Education of All Handicapped Children Act (1975)
defined “underachievement” as a discrepancy
between IQ and Achievement

IQ/Achievement discrepancy has been criticized:
- IQ test do not necessarily measure intelligence

- Discrepancy between IQ and achievement may be
inaccurate

- Rests on a "Wait to Fail” approach
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JMassAmberts
Why Use RTI Instead of IQ/Achievement Discrepancy?

= RTI is an alternative framework for
“underachievement”: unexpected failure to
benefit from validated instruction.
= RTI eliminates poor instructional quality as an
explanation for learning problems.
= Students are identified as LD only after not
responding to effective instruction.
« Poor instructional quality is ruled out as an explanation
for poor student performance.
» Students are provided intervention early!
« RTI does not wait for students to fail!
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Why Use RTI Instead of IQ/Achievement Discrepancy?
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MaseAmbert
Why Use RTI Instead of IQ/Achievement Discrepancy?
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Approaches to Implementing RTI: Five Dimensions

*  Number of tiers

« How at-risk students are identified

* Nature of Tier 2 preventative intervention
* How “response” is defined

«  What happens to under-responders
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J\MassAmhers
Our Approach to Implementing RTI

= Four tiers

= Designate risk status using universal
benchmarks and progress monitoring

= Use commercially available manualized
interventions in Tier 3

» Use individualized problem-solving in Tier 3

= Define response to intervention via slope (i.e.,
rate of growth over time) and final status (i.e.,
universal benchmark).

= Under-responders may go through a
comprehensive evaluation to answer questions
and distinguish LD, BD, and MR
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RTI Logic Model
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Before we even begin however .......

Periodic universal Scientifically

screening / supported core
\ curriculum

Frequent/ Assessment Instructional Scientifically
continuous ,_— System System supported Tier 2
progress 7 and 3
monitoring interventions
Data
Management —> Methods for organizing data
& Decision
Maki
stt?r?w T “Play book” for making
decisions
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Once we have these things in place .....

= Multi-tier prevention system that identifies and
intervenes with students who are exhibiting
academic difficulties

= Public health population based methods

e Primary prevention
- Secondary prevention
- Tertiary prevention
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Continuum of Schoolwide Support

Tertiary Prevention:
Further intensified and

individualized
50} ’\X Intervention
A Secondary
Prevention:
Intensified, validated
intervention
Primary Prevention:

Schoolwide and classwide
instruction
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JMassAmbers
Basics of RTI: Tier 1 (Primary Prevention)

= All students receive a scientific validated core
curriculum (instructional system)

= All students are periodically screened using
universal assessment (assessment system)

*= Students whose performance falls below
benchmark expectations are considered to be
possibly at-risk (decision making system)

- The progress of these students is monitored for 4 to 6
weeks to:

- Confirm risk: these under-responsive students move
into Tier 2

- Disconfirm risk: these responsive students remain in
Tier 1 primary prevention
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Tier 1: Determining Risk Status
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Tier 1: Determining Risk Status
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Tier 1: Determining Risk Status
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Tier 1: Determining Risk Status
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Tier 1: Determining Risk Status
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J\MassAmhers
Tier 1 Primary Prevention Review

= All students receive a scientific validated core
curriculum (instructional system)

= All students are periodically screened using
universal assessment (assessment system)

= Suspected at-risk students remain in Tier 1
primary prevention and their progress is
monitored for 4-6 weeks:

- Students with adequate slopes (i.e., rate of growth is
equal to or exceeds peer expectations) remain in Tier
1lprimary prevention.

- Students with less than adequate slopes move to
Tier 2 secondary prevention.
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RTI’s Multiple Measurement Perspectives

= Screening Assessment = Progress Monitoring

« A form of measurement (Formative) Assessment
where outcomes are « A form of assessment that
referenced to a normative produces scores that have
distribution or criterion of meaning independent of
reference peer comparisons

+ Within SRBI, screening +  Within SRBI, progress
assessments are used to monitoring or formative
compare an individual’s assessments are used to
performance with that of a describe an individual’s
peer group or criterion performance in general
value areas (e.g., reading, math)

+ Example, periodic universal over time
screening to determine + Often summarized in time-
possible risk series graphs

- Individual student data are
collected at one point in
time, summarized, and
compared to peer group
standards

Implementing a RTI Model 22
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RTI’s Multiple Measurement Perspectives

= Dijagnostic Assessment
- A form of assessment that

attempts to pinpoint areas of

weakness and/or concern
- Within SRBI, diagnostic

assessment is used to target
specific areas of instructional

focus

- Example, a phonics
assessment might be used

pinpoint specific weaknesses

that are specific targets for
intervention

-+ Specific improvement is
generally indexed via
masterg of the
skills/obj

+ Generalized improvement is
measured using progress
monitoring assessments

jectives being taught
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SRBI’s Multiple Measurement Perspectives

= Screening Assessment
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(Formative) Assessment

70
60
50
40
30
20
10

0

R-CBM

M

12345678910

Implementing a RTI Model



JMassAmbers
SRBI’s Multiple Measurement Perspectives

= Diagnostic Assessment

NAME, BATE,

Word Wise Phonics Test
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National Center on Response to Intervention
(www.rtigsuccess.org)

NCRTI defines screening assessment as: “screening that involves brief assessments
that are valid, reliable, and evidenced based [that] are conducted with all students

or targeted groups of students to identify students who are at risk of academic

failure and, therefore, likely to need additional or alternative forms of instruction

to supplement the convention general education approach.”

Classification
Reliability Diagnostic Generalizability
Accuracy

Test-Retest Concurrent
Alternate Predictive
Form
Split-Half

Int(_ernal NPP
Consistenc

J)\

N

Sensitivity Replication

Specificity Resampling

G-theory
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NCRTI Example
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ey | AR | Eamulatians Format  |& Scoring Time| Key
ATMSweb Reading
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STAR [Early y
Literacy g Broad 1 4 & mé';‘j:”' 10 Minutes C;r(r:zr:;er Yes
Reading . Individual Computer
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STEEP foral Reading
Fluency & Moderate High & 4 . Individual 1 Minute Yes Yes
ChartLegend: g Convincing Evidence | g Parally Convincing Evidence | - | Unconvincing Evidence | No Evidence Submiceed
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What if my screener has not been evaluated?

A thorough and critical self-evaluation needs to be conducted to determine if
and to what extent the current screening instrument provides evidence of:

Have multiple studies been conducted to provide
Evidence of reliability, validity, and classification accuracy?

Reliability .

Classification
Diagnostic
Accuracy

Generalizability

Test-Retest Sensitivity Replication

Alternate Specificity Resampling

Form
Split-Half Does the screener provide evidence G-theory
that it is effective in accurately
Internal discriminating those who are at-risk
- ) NPP
Consistenc and those who are not at-risk?
2
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Decision Making Using RTI Screening Assessment

= Once adequate reliability, validity, and

classification/diagnostic accuracy conditions are
satisfied

= RTI screening measures can be used to:

- Evaluate the overall quality of the general education
program
- Number and percentage of students who are
responding to the core curriculum program
« Determine those students for whom the general
education program is insufficient for ensuring adequate

academic development thus placing them at risk for
further academic difficulty

Implementing a RTI Model
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Decision Making Using SRBI Screening Assessment

80
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JMassAmbers
Decision Making Using RTI Screening Assessment

= If reliability, validity, and classification/diagnostic
accuracy conditions have not been satisfied

= SRBI screening measures cannot and should not
be used to:

- Evaluate the overall quality of the general education
program

- Determine those student for whom the general
education is insufficient for ensuring adequate academic
development

Implementing a RTI Model 31
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National Center on Response to Intervention

NCRTI defines absolute progress monitoring as “repeated measurement of
academic performance to inform instruction of individual students in general and
special education [which] is conducted at least monthly to (a) estimate rates of
improvement, (b) identify students who are not demonstrating adequate
progress, and/or (c) compare the efficacy of different forms of instruction to
design more effective, individualized, instruction.”

Benchmarks

Specified
ROIs

Alternate Forms

Sensitivity to
Improvement

Reliability of
Slope

Implementing a RTI Model 32




NCRTI Example

General Outcome Measures Mastery Measures
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Decision Making Using RTI Progress Monitoring Formative
Assessment

= Once adequate reliability, validity, and
sensitivity, specified rates of
improvement/growth, and benchmarks are
demonstrated

= RTI formative progress monitoring can be used
to:
- Summarize a student’s rate of growth and response to
intervention over time, and
- Determine whether or not the intervention has resulted
in sufficient response

Implementing a RTI Model 34
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at it My Formative Progress Monitoring

Instrument Has Not Been Evaluated?

A thorough and critical self-evaluation needs to be conducted to determine if and
to what extent the current formative progress monitoring instrument provides
evidence of:

Does the instrument have multiple alternate forms
that can be used for progress monitoring on a weekly basis?

Benchmarks

— —

Are benchmarks and
rates of improvement
provided by grade and
time of year?

Specified
ROIs

Alternate Forms

Are the data
reliable
& sensitive?” Reliability of

Sensitivity to
Improvement

Implementing a RTI Model 35
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Decision Making Using RTI Progress Monitoring Formative
Assessment

= If reliability, validity, and sensitivity, specified
rates of improvement/growth, and benchmarks
are demonstrated

= SRBI formative progress monitoring measures
cannot and should not be used to:

- Summarize a student’s rate of growth and response to
intervention over time, and

- Determine whether or not the intervention has resulted
in sufficient response

Implementing a RTI Model 36



Decision Making Using RTI Progress Monitoring
Formative Assessment

= If your instrument 60

has published rate _
of growth 50 Rate of Growth = 1.6606
information

- Find the average

rate of growth 40
expectation that
corresponds to 30
grade level of the Average rate of growth = 1.00.
progress
monitorin% 20 ) ) B
material that you Has this child responded positively
are using 10 to the intervention?
- Set a goal that
exceed this rate
of growth by a 0

factor of 1.5
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Summarizing Ongoing Progress Monitoring Data

Step 1: Divide the data points into

100 three equal sections by drawing two
vertical lines. (If the points divide
90 1 unevenly, group them approximately.)
80 Step 2: In the first and third sections,
70 1 find the median data point and
median instructional week. Locate the
60 1 place on the graph where the two

50 /‘/0/. values intersect and mark with an “X.”
[ ]
40 4 ° / Step 3: Draw a line through the two
30 | 0/ Xs, extending to the margins of the
graph. This represents the trend-line

20 or line of improvement.

0 T T T T T T T T T T T
1 2 3 4 5 6 7 8 9 10 11 12 13 14

Weeks of Primary Prevention

WIF: Correctly Read Words Per Minute
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Calculating a Trend Line

WIF: Correctly Read Words Per Minute

Step 1: Divide the data points into

100

three equal sections by drawing two

90 vertical lines. (If the points divide

80 A unevenly, group them approximately.)

70 Step 2: In the first and third sections,
find the median data point and

60 1 median instructional week. Locate the
place on the graph where the two

501 ° /./%/O values intersect and mark with an “X.”

40 . | ®—+ |

./</. Step 3: Draw a line through the two

30 1 Xs, extending to the margins of the

20 - graph. This represents the trend-line
or line of improvement.

10

0 T T T T T T T T T T {

2 3 4 5 6 7 8 9

10 13 14

Weeks of Primary Prevention

1 12
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Practice Calculating a Trend Line
Step 1: Divide the data points into
° 100 three equal sections by drawing two
5 90 vertical lines. (If the points divide
< unevenly, group them approximately.)
S 80
o} Step 2: In the first and third sections,
%) 70 1 ° find the median data point and
2 60 ° hd median instructional week. Locate the
o place on the graph where the two
i 50 1 ° o values intersect and mark with an “X.”
S 40 - .
x Step 3: Draw a line through the two
> 30 1 [ Xs, extending to the margins of the
° [ ] graph. This represents the trend-line
g 20{° or line of improvement.
3 10/
L
s 0 T T T T T T T T T T T T {

2 3 4 5 6 7 8 9 10 11 12 13 14

Weeks of Primary Prevention
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Practice Calculating a Trend Line

100
[
S 90 1
£
S 80
g 70
[%) °
T 60
g /
()
= 50 °
§ 40
o4
> 30 1 ([
8 20]e
S
O 10 1
s —m————————
1 2 3 4 5 6 7 8 9 10 11 12 13 14
Weeks of Primary Prevention
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Turning the Trend Line into a Slope
100
[
S 90 1
g 80 | 3rd median point — 1st median point
g_o 70 # of data points — 1
g 60 A (50-34) 7=28
o
= ] .
= 50 . /./R/
$ 40 N | 2
@ Q/X/O
> 30 1
i3]
2 20
o
O 10 1
s o — . —
1 2 3 4 5 6 7 8 9 10 11 12 13 14
Weeks of Primary Prevention
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Practice Calculating a Slope

3rd median point — 1st median point

# of data points — 1

WIF: Correctly Read Words Per Minute

1 2 3 4 5 6 7 8 9 10 11 12 13 14

Weeks of Primary Prevention
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Practice Calculating a Slope

100
90 - 3rd median point — 1st median point
80 # of data points — 1
70 1 (40-20) 8=2.5slope
60 -
50 1

40 o 2o

30 /
20 A O/Ct/' °

WIF: Correctly Read Words Per Minute

10
0 T T T T T T T T T T T T
1 2 3 4 5 6 7 8 9 10 11 12 13 14
Weeks of Primary Prevention
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Forms of Progress Monitoring

In ongoing progress
monitoring we summarize an
individual’s scores over time.

The resultant slope tells us
how much on average a
student grew from one week to
the next.
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How do we get the progress monitoring data?

What We Use

Curriculum-Based Measurement

One Form of Progress Monitoring

Implementing a RTI Model 46



Reading CBM

Kindergarten Letter Naming Fluency

Letter Sound Fluency
Phoneme Segmentation Fluency

Grade 1 Phoneme Segmentation Fluency
Nonsense Word Fluency
Passage Reading Fluency
(Maze)

Grade 2 Passage Reading Fluency
(Maze)

Grade 3 Passage Reading Fluency
Maze

Grade 4 Passage Reading Fluency
Maze

Grade 5 Passage Reading Fluency
Maze

Grade 6 Passage Reading Fluency
Maze
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Letter Naming Fluency

= Student says the

uoLPKDbBbE jHH

names of letters Scal |l KTNLY
for 1 minute. kBHYMgoQpW
. UWu QO s AnP i
= Score is the G onz1elxu,
number of correct mEd | | YpGvB
letters named. PcrHKxMIiOW
WANUXEkK | auQd
zNXMLeglCop
AF k jHUZZzZs | L
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JMassAmbers
Letter Naming Fluency

= Abby’s LNF:

+ Attempted 23 BWoMP KD ELZHN e
letters in 1 minute. Spall KINLY
.. p ABHYMgoQp W m

- Misidentified 5 _
| UWu QOs An P i e
etters. GonZIl cL XUi o
« 23-5=18 MEd | | YP GV B
- Abby’s LNF score is Per HKxMi OW ..
18. WANx k| auaQd -
Z NXMLeg!l Cp  wm
AFkjHUZSI| L .
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JMass A hers
Letter Sound Fluency
= Student says the aympnevbie
sounds of letters zrugebel ko
for 1 minute. gk iyndpthf

i ubgmat e z f

= Score is the

zb i unegmfr
number of correct kszydogpuh
sounds. wipijognbak

mij crgi hvap

k uv oacthwn|j
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JMassAmberts
Letter Sound Fluency

* Drew’s LSF: LTI

« Attempted 38 letter By mponevble

sounds in 1 minute. Zrugedal kP, mm
. gkjiyndpt hA ow
+ Mispronounced 3 Fubgmat ezt

letter sounds. 2bl unegmtr ,
« 38-3=35 ks zydogpuh e
« Drew’s LSF score is wiplognbak wua

1o

3 5 mj cr gi hvap m
k uv oact hnij [
ust gjenvl 0 .
e e 1
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Phoneme Segmentation Fluency

SR P e SSESEN ATy - HSGHERS Mo ARSI 14

= Tamika’s PSF: e -

winds _iwe it in izt few sipfliool e

° WaS presented 60 swung /sl iwjgdfing!  drive il il eyt 1som
possible phonemes vl INGHN_ssied NG g

. . same _ /s//ai/ Im! _shape  Jshifailipl epg

in 1 minute. R 7R~ . 117 R

; nap intialipi you  lyileo!f 18440y

° Fa I Ied tO p rOd U Ce 7 sort isi torf i picked  ip/ iV M/ 17m
chest fchi lel it paid fpl dail fdi ;

phonemes. e

bit fo! il Y hug It ut Igi o

° 6 0 - 7 - 5 3 match  imiialicht  dog 1l fol gl Soies

sign isiiielin/  can i Jail Inf -

° Tamika’s PSF score done Jdi it in/ be Ibt ieal ssim

. parks ol far/ Wt /si_breathe (bl i ieal M iy
|S 5 3 . tracks AU fri fal Iki et ol foif I v
that NN fal i store _ Js/ i orl sa s

[
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JMassAmberts
Nonsense Word Fluency

= Student reads
nonsense Words kol rez Uz rev wev

for 1 minute. e _ms _yn _w__wp

= Score is the S a———

correct number of e

letter-sounds that e o e e

are produced. Wow i w w
Implementing a RTI Model 53
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Nonsense Word Fluency

= Johnnie’s NWF: LT

° Attempted 112 fec zok miv yoc l»«m
letter-sounds in 1 b o am  wl  wos  ww
minute. e o oo

sut Joj muj eb pol a9

- Mispronounced 2 Al
letter-sounds. wo o wpw]| ke

° 1 1 2 = 2 = 1 0 0 w.ao hov tof mek  mag ::,:.:..

« Johnnie’s LSF score e w W
Is 35. "T‘ _.‘e: . _bas__ sen ..d_ii . __itsoem
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Passage Reading Fluency

= Student reads as
many words as
they can aloud in 1
minute.

= Score is the
number of words
read correctly.

Implementing a RTI Model

Albert was @ goldfish in 2 bowt. e a2 a braakfas! of grean and
beown ks Gach moming. Then he watched the chidren g9 off 1o
school.

Alber: hated being stuck in his bowd because he coukd orty swim
sroundin Groies. Hefd rather go to school. Poar Alsar coukin' even
read a book. Tra pages would get soaked!

Al was qute & smart bsh. He could do flips undsr warér He
<0ud spei s name inthe psbibles on the battom of his bowl. No
mattar how st lben was Meugh. e stllhag & praviam. Onl the
cal spoke to hm. And the cal was ol perticularly nice ta hem
aat you up ana day." the cat would tel Albart when they wara all
sione in Fie house. "1 goskis you nght up: You wil be surprised to
discover tat ho ane wil Pss you

It seemed 1o Albert that everyone loved the cat No one saemes to
" hoone et the cat ha
beoks and wasn 1 smar, The cat Geuidnt even soell e S name. but
ihe chidren payed wilh bim svery day

e day e cal dipped s w10 Albert's Sshboss. To save
remself, Albert swam 1o e very botiom of his fistbon He ha behind
‘S0me Focks. e the children came hame fiom scrocl 1hal day, hey
‘saw e cal was wet. They didrl see Albert fiding behind the recks
e batom o hia isnbow, and hat scared hem.

“You are & wery naughly cal” they shauled

Finalty one of the childmn found Afbert hiding in the boflom of the
bomt 1 Rounm b | foun our womsestul fish® Albert fell happy that
his farily vt im ey 34

Mo The Cat ets loche in Ihe basemant euery ddy. and Ine
children ress books lo Alberl every night

[T P T—— — -

Passage Reading Fluency

= Toni’'s R-CBM:

« Attempted 136
words in 1 minute.

+ Made 8 reading
errors.

- 136-8=128.

« Toni’s R-CBM score
is 128.

Aloent was 8 goldfish in & bow! He sigg#reakiast of gresn g0
brown Nakas sach moming. Then ha waPhed fhe childran gggffio
school

Albertgaffbc being stus in his bow! because he coud oniy swim
avcuné incirdes. He'd rather oo 10 schogl Poor Albert coud it ever
reac aack The pages would gel sgfec!

Albert wes qute & sman fatyp e could da fips ynde water. He
couk spst s nagin e s on ths bation f i sowl. Ho
metter haw Mmmn was fough, he sill had a probiem Gy the.
eat spoke [ONM. And the cat was not p?v rice 1o him,

IV et you v 010 day g cat woBFTcl AL they wte
‘wone inthe hause. M c%ﬂu sight up. Yau will e surprised o
discowar thal 1o o wil s ¥

# seemed 10,4 bert Bat sveryons loved fhe 631 No one ssemer 5
et ine cat was Mmean. No one sesrmed 1o Gare I the CaL haed
boks and wast sman, The cal couldt even spethis own nama. but
tha children played wih him svery dery,

ine day the can pped s paw i Albarts fenbowt. To save
hise, Albe! swam 10 the wery botiom of his fishbow! He hid behind
sorme socks. Whe the children came hame from sched that éay. they
Siw the cat was wet  They didn’t ses Albert hiding behind the focks
the botom of s fsnbow, and frst szared them

ot are & very nsughly cat* ey srouled.

Finelly sne of he chidren found Alber hiding n the botiam of the
bowt I found him! | found eur wonderhu i Aloar 5t happy that
tis famiy loved hem afer o

Fiow the ot gats locked i the basamen svary day. and tra
ehikiron read books to Albart every righl

e e

Implementing a RTI Model

56



JMass A

Maze

= Student circles

correct words for 3

minutes.

= Score is the
number of correct
replacements.

“Where are you geing, Dad™ | sek exctedly | wonde f something
interasting s (followed, happening, shufing]

“I1m g o search for sonme (deer, stap, pink). Wouli you lika fo carme
slang? (Whe, Want, o'l ks a ik 1 e wosds” (roplias, sating, ground)
a3

“llawe gaing for weks. {Her, Live, Wailthfor mer” | reply.

“l want (for, bo. and) ge iool” yeis Mke, my younger {brother, clicks,
headed) “Ploase nelp me fie my shoes!”

“Wo'll, Doar, Don'y worry. Miks. | wil balp you  [His, Dad, I aways
wats for botr of us,” (M, |, W) axplain caiiy

W ve in the [country, brother, wouldn') with hge trees bahine our
house. (During, wonder, always) the diterent sascns of the vasr. my, 5o,
us brother and 1 ik to walk [along, during, before) the paths that 0o through
the (search, some, traas). Dad usually oes with us arel Hsachas, mysel,
stomps) Us things about netue,

15 3 [her, love, fall) sfernoen and our shulling leet make (tUms, quite,
away) & rachel thiough the dry lesves. {Dad, Deer, Puts) tells us (o Uy 1o ke
(quiet, away, eating]. He dossnt wanl us Lo scave (you, the, an) desi dwsy

“SINAR says Dad. “51p (4, puts, o) hatent”

My 1t Brofher n | (Both, SR SIOP). DUt We SOt Kear Snyhing

"I tyell, hear, you} something!* wiiscers Mike. *Over therel” he fsnarts,
affur, polats)

100k to where: b postting (be, and, or) 55 3 tig. biown desr (Goking
(during, goes, right) a .51 She st moving bt (his, dis v
Pigh, SMe's istering [for, don't just) ke we are! The desr puts by,
hesd down, grunts. and siomzs her (sway, tited, frant) heots on the ground
We weil {trees, wile, from} Dd smies o7 i s camera fat, me, to} s
face Click! . whirr . Clokl D [likes, takes, today] two picurcs

Two smaller deer siand (behind, smille, yells) the dos They ars her baby
(patns, with, fawns), bom lsst sprng. They ae sating {urees, acoms,
bahind) o 110 ground  Tha fawns dort evan, S10p, use) 560 us! Tha dos

Implementing a RTI Model

Maze

= Juan’s Maze
Fluency:

« Circled 15 correct
answers.

« Circled 4 incorrect
answers.

+ Juan’s maze score
is 15.

“Where sre you gring D | ask excresly. | wander f sometting
v oo o
'I'mgﬂ'\q\uwm‘ pink). Would you ik to ame
S SN
a
"l love ;nm wé xa [Har, L\@Yﬁrr\el' reg

“Iwant (fol go iool” yels Mike, my youngey

By et
o'l it Dt yors Wik, | wil help you (g, Dad, D) aiways
g

waits for botr
otiver, wouldn't) with huge tres befind our

wws] e Gl
o ool [...,.1.,“.., b
the tsu-msmom L A with s & w o), mysait,
stompa) us hings SSET Henure

T e oyt e s e o
avay)a rucke u.m,m.w,km, Deer, Putsitels us o 1y 58
Lqulet, away, esling). He dosser wenuvh scare {you, the, an] deer ewey.

“SANn says Cad. “13p [and, puls, o hekent”

Myl brodhe an | fboth, snort. stop). but we cor' hear anyihing

"I fvell, hear, you) something!" whispars Mike. "Over therel” he [snoms,
affor, poes)

ook fo whete s pobrting (bs, and, or) pes 8 big biown desrooking
{during, goes, ight)al sl She st monng, but (s, her, will bead i o
hiah, Sne's Istanina (for, don't, just) ke we are! The desr pats fby, her, i}
Psd cown, Grurta, 4 omas e ey, i, frond) hacts on e grouna
We e rees, wivle, from] Dad amies and s ha camata fat, me, fo} 1.
face Click! . whirr . Chick! Dad [likes, takes, today) o pictures.

Tuwo smaller deer stand (behind, smile, yells) the dos) They ars her baby
{patns, with, fawns), bam st scang. Thay ave sating {trees, acoms,
behin) f ihe ground The fawns dor {even, stop, use so0 s Thi do
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JMassAmbers
Sentence Verification Technique

= Student reads
passage silently. T

= When finished
turns paper over &
answers questions
regarding what
was just read.

= Score is the
number of correct
sentences
endorsed.
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JMassAmbers
Sentence Verification Technique

= QOlivia’s SVT:
« Endorsed 12
correct answers.

« Endorsed 4
incorrect answers.

« Olivia’s score is 12.

Implementing a RTI Model 60



IMascAhers

Mathematics Computations

= Student answers —— T )
math computations S [ [P e [

problems for a set -
amount of time. aadll IS

= Score is the e

number of digits i ‘ i I
answered T e e
correctly.

Implementing a RTI Model 61

JMassA

Mathematics Computations

= Samantha’s M-CBM: el

Nawe: Samanthg D _Hodemper 1o

answer correct in 3 N
minutes. L - o
- Samantha’s M-CBM e
score is 53. S
+ OR ’
« Samantha answered = T
84 total digits correct - A .
in 3 minutes. v :
+ Samantha’s M-CBM K P B O S
score is 84. ‘

« Samantha answered M [ m [g b o |
53 digits in the yg. G| BN B oS3t
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JMassAmberts
Mathematics Concepts & Applications

Hame _Pen _ Do _March 20

= Ben’s Concepts & .

wmo 18]

How much meney?

Write the answer in the blank.

Applications test: S

PFaul spends 43¢ mora than Larry.

Haw much maney does Paul spend?

- Ben answered 21 Y 14,

. T #1.02.
blanks correctly in A T
it the nurmber in the blank.  sordan 696; @

8 minutes. ST i2-z2a7 ramil | BB R RB R

« Ben’s M-CBM score E
is 21.

R Y o man .

- Vo Tum.ml;!ﬁ?.‘:wufn;,‘.’%m,v 3

Counting by ', 6l in the biarks, |
. Filin the blanks.

45, 48, 51, B2, 53 105 -

| hundres O tens 5 ones
v v v
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JMassAmbers
Spelling

= Student is dictated ey i e

a list spelling = . o
words with a new
word presented e =
every 7 or 10 e —— —E
seconds for 2 O — e
minutes. o C—
= Score is the OES e
number of letter- o mame w

sequences correct. ——
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JMassAmbers
Spelling

= Alex’s S-CBM test:
« Alex produced 70

Alex Oct.7 2008

Jape.
correct letter- Suglier, -
sequences (CLS) in ',;2},';_,’“
. Ragrer, <%
2 minutes. o
« Alex’s S-CBM score Sherif
is 70. howe e
_y{em
My s
Jead, o LT T
gar,
MWCien, |
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J\MassAmhers
Written Expression

= Student is provided a

story starter. T covldnt fall «\ax‘!n pyfent.
. I heowd i m Ly
= Allowed 1 minute to %:;m b auL
think about what they win " T M,L“sf“ G e
are going to write and 3 Tm?b«rmk, ranuawyvs?)un,

minutes to write.

= Scored for total words
written, % words
spelled correctly, word
sequences correct.

= Alex’s WE-CBM test:
« Alex produced 29 TWW.
« Alex produced 90% CS.
« Alex produced 29 WSC.

Implementing a RTI Model 66



MassApherst
Basics of RTI: Tier 2 (Secondary Prevention)

= Use the same goal setting and decision making
standards as in Tier 1

= In addition to the core curriculum, students in Tier 2
receive supplemental manualized intervention for 10
to 15 weeks

= At the end of Tier 2 intervention, student benchmark
and growth status is evaluated
« Students at or above benchmark return to Tier 1

« Students below benchmark, but making adequate (or
exceeding) growth progress may be maintained in Tier 2

« Students below benchmark and continuing to demonstrate
poor growth progress (i.e., under-responding) are moved
to Tier 3

Implementing a RTI Model 67

J\Mass Ambers
Basics of RTI: Tier 2

Q-0 HRG APk RLEB LUl 3

Mean 20 7 111
stdDew 40 42 43
20 151 169 124 [0

75 125 141 156 |03

0 4 127 '

stdDew 40 42 44
30 170 184 135 [ as )
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JMassAmberts
Basics of RTI: Tier 3 (Secondary Prevention)

= Again, use the same goal setting and decision making
standards as in Tier 1
= In addition to the core curriculum, students in Tier 3
receive intervention for 10 to 15 weeks based on
problem-solving assessment
- Diagnostic assessment may be conducted
- Intervention is usually more intense and frequent
= At the end of Tier 3 intervention, student benchmark
and growth status is evaluated
- Students at or above benchmark return to Tier 1

« Students below benchmark, but making adequate (or
exceeding) growth progress may be maintained in Tier 3

+ Students below benchmark and continuing_ to demonstrate
poorgrowth progress (i.e., under-responding) are

considered for a comprehensive evaluation
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JMassAmberts
Basics of RTI: Tier 4 (Tertiary Prevention)

= Students are now typically receiving special education
services

= Two slightly different assessment tasks need to be
addressed now that students have demonstrated under-
responsiveness in grade level material

1. Must determine a suitable difficulty level for progress monitoring
- Conduct a survey level assessment

2. IEP goals need to be configured
» Aggregated end of the year benchmark estimates
- Aggregated rate of improvement (growth) estimates
« Intra-individual framework

= Progress monitoring is ongoing and continuous
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JMassAmbers
Basics of RTT: Tier 4 (Tertiary Prevention)

= Conducting a survey level assessment in
reading:
« Administer three passages at a lower level than the
student’s current grade level:
- Fewer than 10 correct words, use early literacy tasks

» Between 10 and 50 words, but less than 85-90%
correct, move to next lower level of test and
administer three passages at this level

« More than 50 correct words, move to highest level of
text where student reads 10-50 words

* Maintain appropriate level for entire year
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J\MassAmhers
Basics of RTI: Tier 4 (Tertiary Prevention)

= Conducting a survey level assessment in math:

- Administer math probes at a lower level than the
student’s current grade level:

- If average score is less than 10, move down one level

- If average score is between 10 and 15, use this level

- If average score is greater than 15, reconsider grade-
level material

= Maintain appropriate level for entire year
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\‘ Ace S 1Qt
Basics of RTI: Tier 4 (Tertiary Prevention)

Q- © NRG LPHeREE LoEE3

~

Fall Winter Spring
Grade | Percantlle | Num | WRC | Mumn | WRC | Hum

) S o = Hank’s progress
£ B ) = would

Hank is currently
in grade 4 and

receves i ; : = be monitored in
supportive Tier 4 o - = 5 ond grade
intervention in = e L  material.
reading. et @ s e

31 grade median = 5 T

=22 wc/m 7 s i

2"d grade median e T T e

=34 wc/m o =

1st grade median o wmer s sessz| er |ssess ol oe

=45 wc/m i 100 1s 128

5tdD. a0 42 49
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MassAphers
Basics of RTI: Tier 4 Goal Setting

= End-of-year benchmarking
- Identify appropriate grade-level benchmark
- Mark benchmark on student graph with an X
- Draw goal-line from the baseline CBM scores to X
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\‘ Acce S 1Qt
Basics of RTI: Tier 4 Goal Setting

- O RNAGL,PHOBL=EoUdS iy -sx

Fall winter Spring -

Grade Percentile Murm <D Murn 1= Murn cb | ROT

10 ] 4 L3 0.z

5tdD: 11 £l 10

Ll 1z 23 24

StdD. 8 11 13

StdD: 2 iz 1z

5tdD: 18 21 24

80 51 &0 T 0.8
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MassAphers
Basics of RTI: Tier 4 Goal Setting

end-of-year
40 1 benchmark

35

Digits Correct
N
(6]

51 & %" baselne |

O T T T T T T T T T T T T T
1 2 3 4 5 6 7 8 9 10 11 12 13 14
Weeks of Instruction
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Basics of RTI: Tier 4 Goal Setting

= Rate of improvement (growth) estimates
Q O HNRAGLAKkORER- Jeﬂ@.ﬁ v -5

.
e s

-
e
SR B
H OB EE
H B
e e o
=

SSSSS B m &
o =
= B
H BB
S i B o B
v o o (21
B B

SSSSS BB
- e
= Ee |
5 B OB
S
o ) [
= E T

SSSSS i B B
= = ==
I
e )
o
T

SSSSS EE E
B e i B
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Basics of RTI: Tier 4 Goal Setting

» Using rate of improvement (growth) estimates
- First three scores average (baseline) = 14
* Norm for fourth-grade computation = 0.50
« Multiply norm by number of weeks left in year
+ 16 x0.50 =8
Add to baseline average
c 8+ 14 =22
Student’s end-of-year goal is 22
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~4 O

Basics of RTI: Tier 4 Goal Setting

Digits Correct

1 2 345 6 7 8 9101112 131415 16 17 18 19 20
Weeks of Instruction
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JM

~o S~

Basics of RTI: Tier 4 Goal Setting

= Using intra-individual rate of improvement
(growth) estimates

Identify weekly rate of improvement (slope) using at
least eight data points

Multiply slope by 1.5

Multiply by number of weeks until end of year
Add to student’s baseline score

This is the end-of-year goal
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~4 O

()
Basics of RTI: Tier 4 Goal Setting
50
45
40
‘g 35 - Slope = 0.625
S 301
O o5
[%]
= 20 A1 =
5 /(‘
[a) 1 o
10 | o, _—
5 E
O T T T T T T T T T T T T T T T T T T T
1 2 3 4 5 6 7 8 9 10111213 141516 17 18 19 20
Weeks of Instruction
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JM

~C S~

Basics of RTI: Tier 4 Goal Setting

» Intra-individual example

Identify weekly rate of improvement using at least eight
data points

- First eight scores slope = 0.625
Multiply slope by 1.5
« 0.625 x 1.5 = 0.9375
Multiply by number of weeks until end of year
¢« 0.9375 x 12 = 11.25
Add to student’s baseline score
-+ 11.25 + 12.00 = 23.25
23.25 (or 23) is student’s end-of-year goal
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JMassAmbers
Basics of RTI: Tier 4 Goal Setting

Digits Correct
N
ol

1 2 3 4 5 6 7 8 910111213 141516 17 18 19 20
Weeks of Instruction
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J\MassAmhers
Basics of RTI: Tier 4 Decision Making

= Decision rules for progress monitoring data:

« Based on the five most recent consecutive scores

« Based on student’s trend-line
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JMassAmbers
Basics of RTI: Tier 4 Decision Making

5 point rule

30 T
§25 | most recent 5 points ‘ |
= |
s
™~ 20 1 | _________ X
s | NV R
G5 Sel
NS |
»n 10 I
£
g I
Qo
2 51 |
o

0 — T I. — —T T

1 2 3 4 5 6 7 8 9 10 11 12 13 14
Weeks of Instruction
Implementing a RTI Model 85
JMass o1

®

Basics of RTI: Tier 4 Decision Making

= Based on the five most recent consecutive scores

- If the four most recent consecutive scores are all above
the goal-line, keep the current intervention and
increase the goal

Implementing a RTI Model 86



JMassAmbers
Basics of RTI: Tier 4 Decision Making

5 point rule

!
-

BEERY 2oy

’ most recent 5 points ‘

I

25 - | X
I
I

Problems Correct in 7 Minutes
-
(%]

1 2 3 4 5 6 7 8 9 10 11 12 13 14

Weeks of Instruction
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J\MassAmhers
Basics of RTI: Tier 4 Decision Making

= Based on the five most recent consecutive scores

- If the five most recent consecutive scores are all above
the goal-line, keep the current intervention and
increase the goal

- If the five most recent consecutive scores are all below
the goal-line, keep the current goal and modify the
instruction

- When the five most recent consecutive scores are
neither above or below the goal-line, maintain the
current goal and instruction and continue to progress
monitor
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JMassAmbers
Basics of RTI: Tier 4 Decision Making

Analysis based on trend

w
o

N
(&)

trend-line X

i
o

o

Problems Correct in 7 Minutes
= N
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\
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\
\
\
\
\
\
\
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«Q
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D
L
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1 2 3 4 5 6 7 8 9 10 11 12 13 14

Weeks of Instruction
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Basics of RTI: Tier 4 Decision Making

= When the trend-line is steeper (i.e.,
accelerating) relative to the goal-line, keep the
current intervention and increase the goal

= When trend-line is lower (i.e., decelerating)
relative to the goal-line, keep the current goal
and modify the instruction

= When the trend-line is equal (i.e., parallel) to
the goal-line, maintain current goal and
instruction and continue to progress monitor
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JMassAmbers
Basics of RTI: Tier 4 Decision Making

w
o

N
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N
o
L

trend-line

T T T T T
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Basics of RTI: Tier 4 Decision Making

= When the trend-line is steeper (i.e.,
accelerating) relative to the goal-line, keep the
current intervention and increase the goal

= When trend-line is lower (i.e., decelerating)
relative to the goal-line, keep the current goal
and modify the instruction

= When the trend-line is equal (i.e., parallel) to

the goal-line, maintain current goal and
instruction and continue to progress monitor
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JMassAmbers
Basics of RTI: Tier 4 Decision Making

w
o

N
o

N
o
x

AT
trend-line

T T T T T T T T
1 2 3 4 5 6 7 8 9 10 11 12 13 14

Weeks of Instruction

i

Problems Correct in 7 Minutes
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Basics of RTI: Tier 4 Decision Making

= When the trend-line is steeper (i.e.,
accelerating) relative to the goal-line, keep the
current intervention and increase the goal

= When trend-line is lower (i.e., decelerating)
relative to the goal-line, keep the current goal
and modify the instruction

= When the trend-line is equal (i.e., parallel) to
the goal-line, maintain current goal and
instruction and continue to progress monitor
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Case Study

= Smith Street School uses a four-tier model.

= All students receive reading instruction in a
strong research-supported curriculum.

= Qver the last three years about 77% of the
students in kindergarten through 3 grade
achieve seasonal benchmark targets.

Implementing a RTI Model

Case Study

= Tier 1 (Primary -0 BBssHeCLE LonDs
Prevention)

= Universal screening for
students in 3 grade is >
50 we/m in the Fall.

= Students suspected to be
at-risk are monitored
using CBM for 4-6 weeks.

« Students with a CBM slope
> 0.9 increase are
considered to be
responding to the Tier 1
core curriculum.

- Students with a CBM slope
< 0.9 increase are
considered to be under-
responding to Tier 1
instruction.

Grads | Percantie | fum | WRC

stdbey

stdbay

ctdbay

zzzzz
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JMassAmbers
Case Study

= Tier 2 (Secondary Prevention)
- Commercially available manualized intervention:
« 30 minutes per day/four times a week/10-12 weeks.
- Intervention focuses on:
« Phonemic segmentation
« Alphabetic principle
« Decoding
« Encoding
- Word analysis
« Vocabulary development
 Sight word instruction
e Fluency & comprehension
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Case Study

= Tier 2 (Secondary Prevention)
- Student progress is monitored weekly.

- Students with CBM slopes of > 0.9 and who meet
benchmark standards are considered responsive to
Tier 2 manualized (standard protocol) intervention
and return to Tier 1.

- Student with CBM slopes of < 0.9 are considered to
be under-responding to the manualized intervention
and move to Tier 3.
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JMassAmbers
Case Study

= Tier 3 (Secondary Prevention)

« Students whose CBM slopes are < 0.9 to manualized Tier 2
intervention receive an intervention developed through
problem-solving intervention.

- Diagnostic assessment is conducted to assist in
developing an intervention.

« Student progress is monitored weekly.

« Students with CBM slopes of > 0.9 and who meet
benchmark standards are considered responsive to Tier
3 problem-solving intervention and are moved to Tier
1.

« Student with CBM slopes of < 0.9 are considered to be
under-responding to the problem-solving intervention
and undergo a comprehensive evaluation.
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Case Study

= Comprehensive evaluation
- Focuses on making distinctions among disabilities:

- Intellectual/cognitive measures to address LD and
mental retardation.

- Language measures to address LD and language
impairments.

- Systematic direct observation, informant rating
scales, interviews, to address LD and
emotional/behavior disorders.
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JMassAmbers
Case Study

= Tier 4 (Tertiary Prevention)
- IEP goals are determined.
- Student progress is monitored weekly.

Implementing a RTI Model 101

Case Study

= Derek (3 grade student) 100
was suspected of being at- .
risk.

- Fall CBM score was 38
(below cut-off of 50).

= Primary prevention
performance was 10
monitored for 6 weeks: 0

» Derek’s slope was 0.50 _
(below the 09 CUt-Off). Weeks of Instruction
= Derek was under-
responsive to Tier 1
primary prevention.

= Derek was subsequently
moved to Tier 2 secondary
prevention.

Tier 1 slope = 0.50.
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Case Study
= Derek received Tier 2 100 U s dnec 27
manualized secondary z X pooereeenes
preventative intervention. & 2 ; \
+ 30 minutes/four times a O 60 !
week/12 weeks § S0 :
7 T 40
= Derek’s progress was g 5 !
monitored weekly. 2 20 ;
- After 12 weeks Derek’s slope 10 !
was 2.72. o T — T
. 2.72 exceeds the 0.90 cut-off 12345678 91011121314151617181920
for positive RTI. Weeks of Instruction

- Derek’s Winter benchmark
score was 71 which was above
tshge 25t percentile cut-off of

= Derek was returned to Tier 1
and his progress will be
assessed at the Spring
universal benchmark
screening.

Implementing a RTI Model 103

Case Study

= Kevin (3™ grade student) 100
was suspected of being at- o
risk. 70
- Fall CBM score was 24 -
(below cut-off of 50). s | Tertsiope=020
= Primary prevention D s
performance was 10
monitored for 6 weeks: o
» Kevin’s slope was 0.20 _
(below the 09 CLIt-Off). Weeks of Instruction
= Kevin was under-
responsive to Tier 1
primary prevention.

= Kevin was subsequentl
moved to Tier 2 secondary
prevention.

Words Read Correctly
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Case Study

= Kevin received Tier 2 100 .
manualized secondary >0 i
preventative intervention. £ n i Tier 2 slope = 0.18.
+ 30 minutes/four times a 3 & ;
week/12 weeks € 4 ; \
= Kevin's progress was S D et et

monitored weekly. 10 ;

. After 12 weeks Kevin's 0
slope was 0.18.

- 0.18 falls below the 0.90 Weeks of Instruction
cut-off for positive RTI.

« Kevin’s Winter benchmark
score was 26 which again
was below the 25th
percentile cut-off of 69.

1234567 891011121314151617181920
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Case Study

= Kevin was moved to Tier 3 100
problem-solving secondary

| ,
1 1
> ! '
preventative intervention. g 80 : i
- Diagnostic assessments were 5 70 i [
administered to aid in intervention S &0 H i Tier 3 slope = 0.77.
planning. § 50 H i
= Tier 3 intervention was delivered 2 40 ' '
for 30 minutes/four times a ‘;’ 30 ' !
week/12 weeks. 20 h 4
- Intervention focused on direct 10 H H
instruction of alphabetic principle 0 ! H
and decoding. S me 7oA s maE D N m e e e s
= Kevin’s progress was monitored Weeks of Instruction
weekly.
. Af;e7r 12 weeks Kevin's slope was
« 0.77 falls below the 0.90 cut-off for
positive RTI.
+ Kevin’s Spring benchmark score was
37 which again was below the 25t
percentile cut-off of 84.
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Case Study

= Kevin received a comprehensive evaluation:
- Interviews with parents and teachers.

« Administration of the WISC-IV and the Vineland
Adaptive Behavior Scales.

« To rule out MR.

- Administration of expressive and pragmatic language
measures.

« To rule out language impairment.

- Behavioral assessment (systematic direct observations,
informant rating scales).

« To rule out EBD.
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Case Study

= Kevin was placed in special .o BRGlokelEE- ; L
education (Tier 4) under the MCHTILaPS 2 SR T
classification of LD.

= Individualized intervention
techniques and goals were
established.

= Survey-level assessment was
conducted to determine suitable
level for progress monitoring.

» Kevin would be progress monitored
in 1st grade materials, however, this
would be reassessed at the
beginning of 4th grade

= Using the end of the year
benchmarking approach to goal
setting, a long-term annual goal
was established for Kevin.

« By the end of 4th grade, Kevin will
be reading at the corresponding
Spring 39 grade 50t percentile.

- If successful, Kevin will have “closed
the gap” from approximately a two
year gap to a one year gap in one
schoo% year.
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Thank You!
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